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. [18 points] Answer the following questions:
a. Show that there is a root of equation 4x3 — 6x2 + 3x — 2 = 0 between | and 2.

b. If y=u3+u?+1 where u=2x*-1, find %x’i evaluated at x=2.

c. Determine where the curve y = x3 — 3x + 1 is concave upward and where it is concave
downward. Find the inflection points.

d. Find F'(x) if F(x) = VX2 + 1.
[12 points] Determine whether the following series converge or diverge.
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[12 points] Evaluate the following integrals.
a. ffm xe*dx

b. [iZdx

x+1

a.

’ 2 - -
[8 points] You are given the differential equation y = xyx';y . Is this equation homogenous? Solve this

differential equation.
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5. [104] WA —SRMMeH  LFEE RS

fw)y=cw(2-w)» 0Sw<2o
(A) K¥#c.

(B) KEMW & var(W).

6. [10 4] #% %= s#EA (nultiple linear regression model ) :

Y; =Xi‘B+8i (i=1.2,...n),
ZEXg) +* 0 BEZ Tuhs Xisiley T A% # (instrumental variable):

Bvar(gilZ) = o’ RELTAFHAHE  LLHTHBRIH -

7. [1594] #*EEEEEL AR ERALT :

(48 ) Qj=ay +aP; +asPi | +g;

(ZFR) Qj=PB1 +B2P; +B3Y; +u;

EF QRASHMEAFLRE PABIAS Y AKA-

(A ¥R LERQ MP; AR L% H (endogenous variables)  Pj; £ Y;
B ok & % # (exogenous variables) @ kb&y HETAZ £ EIL LB 7

(B) RE LR 4 HF X (reduced form) -
O #HeeFRR/FERFELFTHNY (identified) ? RE LMLy HErE S -

8. [154] £EHLMEHHA (simple linear regression model) ¥ - 3% var(u)= o
(A) Rz Var(éow) = [Z(Xi _i)z]ciz/[Z(xi -3’7 > Var(ﬁWLs)': 1/[Z(xi -X)’ /o?]e

(B) #|M Cauchy-Schwarz &% & & £4¥ % » REHA var(By.s) < var(Bo) °






